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A AL

B FHOK|SINLAS (RELT SN/ N ALZAI)
el XIS (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
<MD HE &2 FUISA 20,000,000 * 14! 20,000
03 AIZ=R0i4l 5,400 0 5,400
OJIEtZHI 1,500,000,000& *0.36% 5,400
OHM AL Ol A 201,440 0 201,440
401 Al&HIZL=ROHYI 201,440 0 201,440
01 Al&H| 200,000 0 200,000
OMEFH OHEALLD G ALY 200,000
—E2S W32 19Ma 10,000, 000& 207 2 200,000
03 AIZ20i4 1,440 0 1,440
OJIEr&EH] 200,000, 000%0.72% 1,440
CEAE2E (8L LS /E2) 6,265,750 8,073,323 A 1,807,573
= 800,000
= 5,465,750
CZ2HLs ZF 5,871,914 7,699,002 A 1,827,088
& 800,000
= 5,071,914
FIEEZAIONE AL 600,000 800,000 A 200,000
= 300,000
i 300,000
401 Al&HI YL S OHYI 600,000 800,000 200,000
& 300,000
i 300,000
01 Al&H| 596,220 794,240 A 198,020
OZE3 A MY 596,220
— A2 AN AS 596,220,000& * 14! 596,220
& 300,000
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A AL

M CRAL2e (SR NS/E2)
=t
o

Cell CRAME T (=S L
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
= 296,220
03 Al R04Hl 3,780 5,760 21,980
OZE3HAMY 3,780
—RAEEZ2ANE A 3,780
JIEtE I 600,000, 000& *0.63% 3,780
TSI FAL 2,557,120 2,631,990 AT4,870
401 Al&HI LS04I 2,557,120 2,631,990 AT4,870
01 Al&H| 2,549,200 2,625,510 AT76,310
OF TSI HAY 2,549,200
— 2~ T2t T2 S LA AH(L=0.8km) 600,000,000& * 14! 600,000
—3&~-2S2 TZ S E I AHL=0.8km) 300,000,000+ 14 300,000
—OtE~-SH2 HSEE EEE I3 AHL=0.8km) 300,000,000 * 14l 300,000
—tE~S M2t S EREIEZAH(HE X ZZL=0.6kn) 300,000, 000% 14! 300,000
—OtE~-SH2HHEE2)S LIS AH(L=1.3kn) 300,000, 000& » 14 300,000
—ARHH2 &2 SHEHIZAHL=0.7km) 400,000,000& * 14! 400,000
— & AIZ A 233,200
A Al E A 2,200,000, 000& *2.65% 58,300
MESALHAEEZA 2,200,000, 000 *2.65% 58,300
T . SsHEEZ HHlHE+E EY 2,200,000, 000& *2.65% 58,300
T2l HE 8 2,200,000, 000& *2.65% 58,300
— S 178,000& *600E X| 106,800
— =g 50,0002 » 1002 X| 5,000
S22 14,0003 *300E X 4,200
03 AIZ220i4l 7,920 6,480 1,440
OJIEtZEHI 2,200,000, 000& *0.36% 7,920
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SN A D

By C2ALR(+SLDE/E2)
PN
o

CRAME T (=S -ED
SA B E(3) - HES arod e HI DS 2
SHEZZEILIAMNY 1,864,794 4,267,012 N2,402,218
401 AlIEHIZ R0 1,864,794 4,267,012 A2,402,218
01 Al&HI 1,858,104 4,256,482 A2,398,378
OsHEZZ HEZHSA 1,858,104
—25d sHEX=Z® & 310,000,000& * 14 310,000
—HE SHEEZE & 300,000,000& *14 300,000
—F7d SHEZZEIL & 347,000,000& * 14 347,000
—=d48 SHEZZEL & 300,000,000 =14 300,000
—d248 SHEZZ= & 200,000,000 *14] 200,000
—t8d sOHEEZ # 200,000,000 * 14 200,000
—TME SHERZ # 150,000
— & AE A8l 51,104
A EAHBI 1,858,301,000& #2.75% 51,104
03 Al&= 0yl 6,690 10,530 A3,840
OJ1et&H 1,858,301,000& 0. 36% 6,690
HEolESsY9A 250,000 0 250,000
401 AlZHIZ2UHI 250,000 0 250,000
01 Al£Hl 250,000 0 250,000
OUistel= ool dMESt W =y 250,000
—dHHE, SToiME 141%250,000,000 250,000
USRI T TG ALY 600,000 0 600,000
& 500,000
o 100,000
401 AlZHI XS] 600,000 0 600,000
= 500,000
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A AL

M CRAL2e (SR NS/E2)
=t
o

Chel cRALY T (sl &
- _ _ XN -
SH-HH . C(BH) - HRAY - B2 Ofl AF o4 07'5@ HRE
= 100,000
01 Al 596,220 0 596,220
OZS3 A A 596,220
— Ol B B B T A ALY 596,220
596,220,000& * 14! 596,220
= 500,000
= 96,220
03 AIER 3,780 0 3,780
ozs 3,780
—0F 3,780
600,000, 000& *0.63% 3,780
SRAERNSS 393,836 374,321 19,515
CRALRNES 393,836 374,321 19,515
101 el 2,856 2,856 0
04 JIZtHIZ2E2ENESE S 2,856 2,856 0
O WSHEXA 42,0003 *34F «2 2,856
201 et I 11,580 33,540 221,960
01 AtSR22/Hl 4,720 31,120 N 26,400
S22y o3 FA+H 70,0003 x4 ZH 43| 1,120
OCCTVS M 221 bl 100,000 ¥37H 2 * 124 & 3,600
02 Z&==2234l 6,860 2,420 4,440
Og=ZE h=-R=d 2,300,000 =1 = 1CH 2,300
Ogst EPIPSWIRTE=, 80,000& »12& 960
OcCeTv 2= 100,000 *3IH A+ 1200 & 3,600
206 M=l 53,400 77,925 A24,525




A&

P E2AEEE(SLNE/ER)
CER2ANERXES

i
40
]
{0

SA - HB SRS - 0f &t e 52

01 Mz sl 53,400 77,925 N24,525
Ok=3HlE 50,0002 171 +55 4,250
HolltizEg Jazs 2 950,000& *10& 9,500
OgdegA 2 30,0002 300 9,000
OulFJl =& 1,700 %500 £ *5CH 4,250
OZoitiME HIEH 2 4,500,000& *27H 9,000
doitidE HEE 2 600,000& *22 1,200
OEIStE(tAZEZUE 15,000 200 CH 3,000
OBZEH FX2cltl 1,100,000 1200 & 13,200

E=1=lR=e gl Ja] 326,000 260,000 66,000

Al &£ H| 326,000 260,000 66,000
OEZRXZCIAY 1,200, 0002 *200km 240,000
OuSHHEXE & 10,000,000 54 A 50,000
Ok . sHEXZZ HEE 1,200, 000& *30km 36,000

SUSSH+sH WS/ HENS - SF{FSIIE) 2,144,773 2,631,120 A486,347
= 439,681
= 1,705,092

S-SHMMEXNA 1,711,762 2,064,542 A 352,780
< 439,681
= 1,272,081

HAcd HAEAEY 540,000 471,180 68,820
= 270,000
= 270,000

g2t =01d 540,000 471,180 68,820
= 270,000
= 270,000
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A AL
a3 i

e HMEX & (el &)
SN EHE - S(BH) - MM - BLS sl e RS2
01 It ELEX 540,000 471,180 68,820
OZHIEZAIE (23) 540,000
—HILd sAEAZ NI (FLXeldDnE1) 540,000,000& * 14! 540,000
& 270,000
i 270,000
HAIE 222 &1 32,400 29,000 3,400
401 Al&HI LS OHYI 32,400 29,000 3,400
01 Al&Hl 32,400 29,000 3,400
OHALY 2z 2ZEES dX(S-dE2Z2 2) 2,700,000& = 12CH 32,400
=g SIHEX XA 800,000 800,000 0
307 212t01& 800,000 800,000 0
09 2+HAEXS 800,000 800,000 0
o293 |IHt2EZ X (303CH) 400,000,000& 23l 800,000
HASAH HEXZ 339,362 339,362 0
& 169,681
i 169,681
307 BI12+0I A 339,362 339,362 0
& 169,681
= 169,681
09 2+HAHAEXS 339,362 339,362 0
OZHIEx A 339,362
—SHEHASH MEX (2R elatnx) 339,362,000& » 14! 339,362
= 169,681
= 169,681
NESHIANLES 241,991 402,921 A 160,930
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ot

P
o

- _ — NUE &
SA B SA(BH) - MBAY - BES arey Siatel 2

HasZdd EX 2 61,000 82,515 n21,515

401 Al HI LSO 61,000 82,515 N21,515

01 Al&HI 61,000 82,515 A21,515
OHASLE X 4 E(ELS2) 9,000, 000 *5H 2 45,000
OHAS2E CH(EFLSe 8IHA) 400,000 *40H 2~ 16,000

WSUHHALES XA 141,391 198,455 Ab7,064

401 AIEHIZ 208 141,391 198,455 A57,064

01 Al&H| 140,761 197,087 N56,326
OZAIAE XFU HESM (&, otojH) 1,000, 000& *40km 40,000
ORESoHA™ AES(BAIE S)8X & Fy| 500,000 *607H 2~ 30,000
OSYHFEXIHECCTVAE X LS/ 40,000,000 »14! 40,000
Ounsitss(EEs) WM ¢ &4 25,000,000 * 14 2 25,000
OEAAHE XU =M, WSAEES S 2AEH 70,000,000&*5.11/100 3,577
OS8FEXSSECCTVE R & AIE A 40,000,000% x5.46/100 2,184

03 A&=20HYI 630 1,368 AT38
OEAMAE X2UH MHEEMS RO 70,000,000 *0.90/100 630

SS Fg&e 39,600 37,440 2,160

401 Al&HI YL SO 39,600 37,440 2,160

01 Al&HI 39,600 37,440 2,160
OULSASI| FANEs 222 (HEH) 30,000& *11001 =123 39,600

= XS DSEAN =E 191,020 163,657 27,363

WAL etd2e| 156,710 88,810 67,900

101 el 9,900 7,750 2,150
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SN HED
HE: JSDE2SSH(+SLDNS/HEDS - 2RSIIEH
Sel: EME FAEE DSEN =Y (25 &2
- _ — NUE &
SN (BH) - HEAY - BHES Ofl &k o O ot o Hj =2

01 =AY 3,500 3,600 A 100
OSYFIL B2 20,0008 *5% %352 3,500

ASIEHHES K& 5,500 0 5,500

307 QI2H0|H 5,500 0 5,500

03 AMlBlEMEX= 5,500 0 5,500
OZg=dAtal S Atz2lEH X3 5,500,000& 5,500

2L AU (AL (IIEH/IIEH 482,064 410,141 71,923
== 151,606
2 330,458

QI =3 403,635 331,341 72,294
S 151,606
= 252,029

olzt 2oyl 4,200 4,200 0

203 ZREIH| 4,200 4,200 0

04 REN2IHRFAH 4,200 4,200 0
ORAN2SIYR=LAH 350,000& «12&8 4,200

ClIHARIH(=EJ) 399,435 327,141 72,294
S 151,606
= 247,829

101 1A 399,435 327,141 72,294
S 151,606
= 247,829

03 RIIHAZZXNE= 399,435 327,141 72,294
OEHIEX=AY 399,435
—+2E(er) 38,408
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S e}
M SNPAAH (AL D) (IIEH/IIE
ol ol oyl chel &
SN - HE - SI(E) - NRAY - BAS 01l &k o e =2
2= 59,000% 12 *300 17,700
= 17,700
o0= 17,700,000 *4/12 5,900
L= 5,900
2EIHAS 17,700,000 *10/100 1,770
& 1,770
TU2ZRE 5,885
KA = 11,0603 x1Z «15A| 2t+ 12 1,991
= 1,991
XedsH 59,000 x1H +662 3,894
L= 3,894
Fe==H 59,0003 1«52 3,068
& 3,068
Xt 59,000% x1H *252 1,475
= 1,475
s 1,110
# HH < Xt 40,0002 = 1H 128 480
= 480
*EHIS 20,0003 x2E 12& 480
& 480
X 1| = 150,000& « 1 150
= 150
- Sl 5,000 *1H+3002! 1,500
& 1,500
— =22 () 361,027
ez 42,0002 * 132 %3002 163,800
L= 49,140
i 114,660
o0= 163,380,000% x4/ 12 54,460
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SN AL
B SE2 A (D) (OIEHIIE)
cHol: ozl 2gy] SEREL
. - o AT ~
SH-HH . C(BH) - HRAY - B2 Ofl AF o4 01l o ot =F]
= 16,338
= 38,122
- 2EINF 163,380,000% *x10/100 16,338
= 9,791
= 6,547
TG 61,917
KA = 11,0603 »13= x15A| 2t+ 12 25,881
= 7,764
2 18,117
el 42,0003 x13E «66 36,036
& 10,811
= 25,225
FE==H 42,0003 x 13«52 28,392
& 8,518
i 19,874
SPNEI=y 42,0003 x 13 x25¢ 13,650
= 4,095
i 9,555
mag 4,670
# HH < Xt 40,0002 x 13« 123 6,240
= 1,872
= 4,368
*EHlS 20,0003 »27E 12 6,480
= 1,944
= 4,536
X 1| = 150,000& 13 1,950
= 585
2 1,365
==l 2,000 13 +300 7,800
= 2,340
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2A: A4
A HY2IALI (AL D) (OIEHIIE
cHel: ol 2oy (ct9: & 2
SA B E(E) - HRAY - HAS Off &b o8 e HIDE 2
[ ] = 5,460
Jl=Z4l 78,429 78,800 A371
Jl23dl 78,429 78,800 A371
01 eI 45,774 44,480 1,294
01 AtSR2t2ldl 45,774 44,480 1,294
ORNEA 1,940,000& 21 40,740
O=&l 3,234
—S20iAaldl 7,000 x21H x22 3,234
ogxtz 1,800
—SUE5 A 150,000 *1CH*12& 1,800
202 044l 32,655 34,320 A1,665
01 =2WAbI 32,655 34,320 A 1,665
OZ LA b 80,000& 21 +x12& 20,160
O&2 o bl 85,0003 x21H »7 12,495

_29_




